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&S FR el BE#(GEL) KR FAEH (£2) AR S
16998 [304% Bt ERT FERER 38230 - BileS:a=]
16999 |201% ik K h#T HY (EIETIEAEW) 3A23H - S8
17000 [304% Bt B RRERREN FERER 38230 Y E=van=|
17001 [504% St NEEFH IR 38 24H HY Eyan=|
17002  [504% peq L NIEFH HY (BETIEARW) 3A23H ) E=vad=|
17003  [304% S HFH HY (BETEAEW) 3A23H HY Eyan=1|
17004 [104% B B RRERREN HY (BETIEARW) 3B 24H - L
17005 |10mAim |ZME BRREMEN HY (BETEAEW) 38248 - L
17006 |604% pegis ER™ HY (EFETIEHRL) 3823H - N 3=
17007 |204% Legc IR HY (BETEAEW) 38 22H HY Eyan=1|
17008 [104% peq L SR REREN HY (BETIEARW) 3B 24H - L
17009 [504% S BRREMEN HY (BETIEARWL) 3A21H - BE¥
17010 [304% Bk EIRT HY (BETIEARW) 3A821H - BE3
17011 |104% S IR HY (BETEAEW) 3821H - L
17012 |104% Bk EIRT HY (BETEARW) 3A821H - L
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= FR R EEMCEL) KR FAEH (£2) AR S
17013 [10m%kim | Btk EIRT fERER 38248 HY L
17014 |10m&0m |ZME BRREREN HY (BETEAEW) 38208 HY) L
17015  [10m%kim |zt EIRT HY (BETIEARW) 3A23H HY (BB - REMEHRLD) L
17016 |10mA0m (2% IR HY (BETEAEW) 3A19H HY (HE - REMBEHKALL L
17017  |10m%kim | Btk ERT HY (BETIEARW) 3820H HY (BB - REMEKLD) L
17018 |10m%Ri |Zt BIR™ FRER 3R24H HY (HBE - REMRLD) wL
17019 |10m%kim | Btk ERT FERER 3B 241 HY (BB - REMEHRLD) L
17020 |10mkiE (B IR HY (BETEAEW) 3A25H HY (HE - REMBEHKALL L
17021 |10m%kim | Btk ERT FERER 3B 24H HY (BB - REMEHRLD) L
17022 |10m%K7 (Bt BIR™ FRER 3R24H HY (HE - REMRLD) wL
17023 |10m%kim |zt ERT FERER 3B 24H HY (BB - REMEHRLD) L
17024 |304% Legc IR HY (BETEAEW) 38 22H HY Eyan=1|
17025 |10m%AKuE |2C1% ER™ HY (BETIEEW) 3A14H HY 7% L
17026  [304% Legc IR HY (BETEAEW) 3A23H HY (HE - REMBEHKALLD SilzN: =]
17027 [204% peq L B RRERREN HY (BETIEARW) 3B 24H HY L
17028 |10mAim |ZME BRREREN HY (BETEAEW) 38248 HY) 5L
17029 [104% Bk EIRT HY (BETIEARW) 3B 24H HY (BB - REMEKLD) L
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17030 |10m%kim |zt EIRT HY (BETIEARLW) 3A22H HY (BB - REMEKLD) L

17031 |10mkiE (B BRREREN HY (BETEAEW) 3A25H HY (HE - REMBEHKALL L

17032 |604% Bt EIRT HY (BETIEARW) 3B 24H - E=van=|

17033 |404% S HEMREEFTE W HY (BETEAEW) 3A23H HY Eyan=1|

17034  |404% peq L AR AT E N HY (BETIEARW) 3A23H ) ELIN S

17035 |104% Legc HEMREEFTE W HY (BETEAEW) 38238 HY) 5L

17036 [10m%kim | Btk F (=i HY (BETIEARW) 3B 24H HY L

17037 [504% B =l HY (BETEAEW) 3A23H HY Eyan=|

17038 [104% Bt bk HY (BETHEAWL) 3A23H - L

17039 |104% i =l HY (BETEAEW) 3A19H HY) 5L

17040 [104% peq L F( =i HY (BETIEARW) 3A23H - L

17041  |204% S t&E™ HY (BETEAEW) 3A23H HY Eyan=1|

17042 [204% peq L F( =i HY (BETEARW) 3A22H - E=van=|

17043 |104% Legc HEMREEFTE W HY (BETEAEW) 38228 HY) 5L

17044  [304% peq L AR AT E N HY (BETIEARW) 3A23H - NR— b & A <—
17045 |104% Legc HEMREEFTE W HY (BETEAEW) 3823H - L

17046  [204% peq L F (=i HY (BETIEARW) 3819H ) E=vad=|
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17047 |404% Bt B4 (b tH) HY (BETHEARL) 3A23H - E=van=|
17048 |10mA0m (2% bk HY (BETEAEW) 3823H - L
17049 |10m%kim | Btk s[5 HY (BETEARL) 3A821H HY L
17050 |104% Eegc t&E™ HY (BETEAEW) 38198 - L
17051 |604% % el ) HY (EFETIEHRL) 3821H &HY) mL
17052 |10k |Z1E HEMREEFTE W HY (BETEAEW) 38248 - L
17053  [304% peq L AR AT E N HY (BETIEARW) 3B 24H - E=van=|
17054  |404% B =B HY (BETEAEW) 3A23H - E=yan=|
17055  |604% geqi3 EEF HY (BETHEAWL) 3A821H HY (BB - REMEKT0) L
17056 [301% B jttm HY (EFETIEHRL) 3H24H »HY N3]
17057  [304% peq L AR AT E N HY (BETIEARW) 3A23H HY (BB - REMEKTO0) E=van=|
17058 [504% geqc3 EEH HY (BETIEARWL) 3A23A HY (BB - REMEKT0) EilzN3s]
17059 |10m k¥ |SB1E =EHH HY (BETIEEW) 3A24H - %L
17060 [304% Legc t&E™ HY (BETEAEW) 38 22H HY BilzN: 9=
17061 |404% Bt EEFH HY (BETHEARL) 3A23H - E=van=|
17062  [304% Legc HEMREEFTE W HY (BETEAEW) 38 24H - 2N
17063 |10m%kim | Btk EEF HY (BETHEARWL) 3A23H HY (BB - REMEKTO0) L
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17064 |404% S el ) HY (EFETIEHRL) 3A23H &HY) N 3=

17065  |404% B bt IR 38 24H - E=yan=|

17066  [304% peq L AR AT E W HY (BETIEARW) 3820H - E=van=|

17067 [304% B bk HY (BETEAEW) 3A23H - E=yan=|

17068 |104% Bt AR AT E N HY (BETIEARW) 3A23H - L

17069 [301% B jttm HY (EFETIERL) 3H23H »HY =ft8

17070 |10mKuE |SB1E el ) HY (BETIEEWL) 3H23H - %L

17071 |104% B =l HY (BETEAEW) 38208 HY) 5L

17072 |304% S el ) HY (EFETIEHRL) 38248 &HY) =ft8

17073 |10mFKE (B =l HY (BETEAEW) 3823H HY) 5L

17074 |10mx K0 |B1E &M HY (BETIEEW) 3A22H HY 7% L

17075 [404% St B4 (REREBRTEN) HY (BETEAEW) 38228 - 218

17076  [501% g Em HY (BETEAEW) 38228 HY W= bR A<~
17077 |604% S HEMREEFTE W HY (BETEAEW) 38 22H HY BEx

17078 |304% St el ) HY (EFETIEHRL) 3822H - E=gan=|

17079  |404% 7 bk HY (BETEAEW) 3A23H HY BEx

17080 |l0m%kim | Btk s[5 HY (BETHEARWL) 3B 24H HY L
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17081 |604% peqi3 s[5 HY (BETHEARL) 3819H HY L
17082  [304% S AR EATE N HY (BETIEARWL) 3A23A HY (BB - REMEKT0) ilzN3s]
17083  |404% peq L AR AT E W HY (BETIEARW) 3A248 ) NS
17084 [604% S HEMREEFTE W IR 38 24H HY SN
17085 [10m%kim |zt AR AT E N HY (BETIEARW) 3B 24H HY L
17086  |404% 7 =l HY (BETEAEW) 3H20H HY BilzN: 7=
17087 |404% Bt B3 HY (BETHEAWL) 3820H - E=van=|
17088  |404% S BN HY (BETEAEW) 3A21H HY Eyan=|
17089 |l0m%skim |zt B3 HY (BETHEAWL) 3A23H HY L
17090 (907 £ | Bt BN REFTE N HY (BETIEARWL) 3A25H HY (BEEMER23) AL
17091  [804% peq L B3 HY (BETEARWL) 38250 HY L
17092  [504% S BN HY (BETEAEW) 3A23H HY N
17093  [104% Bt BNRERTE X FERER 38250 HY L
17094  [304% S BN HY (BETEAEW) 3A25H HY Eyan=1|
17095  [804% peq L B3 HY (BETHEARL) 3A821H ) ELIN S
17096 [501% Legc BN HY (BETEAEW) 3A23H HY Eyan=1|
17097 |10m%KuE |3C1% BN HY (BETIEEW) 3A24H HY 7% L
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17098 |10m%kim |zt B3 HY (BETHEARL) 38250 HY L
17099 |404% Eegc BINREEFTEA HY (BETEAEW) 3821H HY) L
17100 [10m%kim |zt BNRERTE X HY (BETEARL) 3B 24H - L
17101 |304% S BINREEFTEA HY (BETEAEW) 3A23H HY Eyan=1|
17102 [304% peq L B3 HY (BETHEAWL) 38250 ) E=vad=|
17104  |204% Legc BINREEFTEA HY (BETEAEW) 3A25H HY Eyan=|
17105  [304% peq L ENRERTE N HY (BETHEAWL) 38250 HY L
17106 |10mA0m |ZME BINREEFTEA HY (BETEAEW) 38258 HY) 5L
17107  |10m%kim |zt ENRERTE N HY (BETHEAWL) 38250 HY L
17108 |104% S BN HY (BETEAEW) 3823H HY) 5L
17109 |204% S BN HY (EFETIEHRL) 38248 - SilZNi3=]
17110 |304% Legc BN HY (BETEAEW) 3A25H HY Eyan=1|
17111 |404% peq L B3 HY (BETHEARL) 3B 24H - L
17112 |504% Legc BN HY (BETEAEW) 3A23H - E=yan=|
17113 |304% pegis BN HY (EFETIEHRL) 38248 - SilZNi3=]
17114 [404% S BN HY (BETEAEW) 3A21H - RNBE
17115 [204% Bk B3 HY (BETHEARWL) 3A22H ) E=vad=|
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17116  [10m%kim | Btk B3 HY (BETHEARL) 3B 24H HY L
17117  [404% Eegc BN HY (BETEAEW) 38248 HY TSk
17118 |404% peq L B fERER 38250 HY (BEERER23) BileS:a=]
17119 |404% Eegc & /7 UG ET HY (BETEAEW) 3A25H HY (SiHEMEKR23) SilzN: 7=
17120 |604% peq L ENRERTE X HY (BETHEAWL) 3818H HY (SimEE%23) BileS:a=]
17121 [404% Legc BN HY (BETEAEW) 38 24H HY (SEHEMEKR23) SilzN: =]
17122 |404% pegis BN HY (EFETIEHRL) 3825H HY (EEnEMEK23) W= h&A~—
17123  |804% Legc BINREEFTEA HY (BETEAEW) 3A25H HY (SEHEMEKR23) L
17124 [804% peq L ENRERTE N HY (BETHEAWL) 38250 HY (SimEE%23) #L
17125  [90mE M £ |ZctE BHRBFTE N FERER 3A248 HY (BiEHER23) AL
17126 [804% peq L BNRERTE N FERER 38250 HY (BEERER23) #L
17127 |90 £ |ZctE BHRBFTE N FERER 3A25H HY (BErEMER23) AL
17128 [204% Bt B3 HY (BETHEARL) 3B 24H - E=van=|
17129 |304% S BN HY (BETEAEW) 3A23H HY Eyan=1|
17130 [504% peq L BNRERTE X HY (BETHEARL) 38250 ) ELIN S
17131 |704% S BN HY (BETEAEW) 38 24H - BEX
17132 |704% peq L —BEREFTE N HY (BETIEARW) 3A23H HY NR— b &AL <—
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17133 |104% peq L —BgmH HY (BETIEARLW) 3A23H HY L
17134 |10 FK0E (B —Eh HY (BETEAEW) 3821H HY) L
17135  |204% pegis —Bm HY (EFETIEHRL) 3244 &HY) N 3=
17136 |204% S —Eh HY (BETEAEW) 3F24H HY RNBE
17137 |10m% K0 |3C1% —Bm HY (BETIEAEW) 3A22H HY 7% L
17138 |10k (%1% —Eh HY (BETEAEW) 38218 - L
17139 |10m%kim |zt —BgmH HY (BETIEARW) 3B 24H HY L
17140 |304% Legc —BREFERN HY (BETEAEW) 3A23H HY Eyan=|
17141 |10m%kim |zt —BgmH HY (BETIEARW) 3A22H HY L
17142 [204% S —Eh HY (BETEAEW) 3821H - L
17143 |404% peq L —BgmH HY (BETIEARW) 3A821H - E=van=|
17144 [104% S —Eh HY (BETEAEW) 3821H - L
17145  |104% Bt —BgmH HY (BETEARW) 3818H - L
17146 |404% Legc —BREFERN IR 38 24H HY SilzN:g=]
17147  [304% Bt —BgmH HY (BETIEARW) 3820H ) E=vad=|
17148 |10k |ZME —Eh HY (BETEAEW) 38258 HY) 5L
17149  [104% Bk —BgmH HY (BETIEARW) 3B 24H - L
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17150  |404% Bt ezl HY (BETHEARL) 38250 ) E=vad=|

17151  |204% S ERREFFEA IR 38 22H - E=yan=|

17152 [304% Bt ZRREFREN fERER 3A22H - E=van=|

17153  |204% S ERREFTEA HY (BETEAEW) 38 22H HY Eyan=1|

17154  |404% Bt ZRREFTEN HY (BETIEARW) 3819H HY (F198) NS

17155  |404% S ERREFTENA IR 3A25H HY (F’K98) RNBE

17156 |104% Bt ZRREFTEN HY (BETIEARW) 3B 24H HY (F198) #L

17157  |504% S ERREFAEA HY (BETEAEW) 38 24H - BEX

17158  |404% peq L =i HY (BETIEARW) 3820H - NR— b & A <—
17159 |504% St BA (BHREERN) HER 38238 HY 248

17160 |504% Bt B4 (SHRBEAEN) FERER 3A23H Y E=vad=|

17161  [504% 7 BA (ARRBEITEN) HY (BETEAEW) 3A18H - AT N
17162  |404% peq L ATIREFTE N HY (BETEARW) 3A821H HY NR— b & A< —
17163 |704% Legc ARREFTERN HY (BETEAEW) 3821H HY) 5L

17164 [304% Bt ATEIREFTE N HY (FEETIEAW) 38250 - NBE

17165 |504% St BA (ARRBITEN) HY (BETEAEW) 3816H HY BE¥

17166 |704% Bk ATEIREFTE N fERER 38250 »Y) BE3
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17167 |704% peq L ATIRBEFTE N HY (BETIEARLW) 3A16H ) BEZ
17168 [404% S “FREFFEA HY (BETEAEL) 3A23H HY RNBE
17169 [104% Bt “FREFEN HY (BETIEARW) 3A23H HY L
17170  |804% Eegc “FREFFEA HY (EETIEAEW) 38228 HY 3L
17171 [804% peq L —FHT HY (BETEARL) 3A23H HY (F189) AL
17172 |504% 7 vl HY (BETEAEL) 3H20H HY (F1889) RNBE
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